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AQA AS Law – Unit 1: Law making and the legal system (AS Law01)
Introduction
The answers to the exam practice questions provided in Unit 1 of My Revision Notes AQA AS Law (AS Law01) are given below, in the order they appear in the text. 
Section A: Law making

Topic 1: Parliamentary law making
Exam practice (page 17)
1. Explain what is meant by parliamentary supremacy and outline one limitation on it.










[10 marks]
Answer
Parliamentary supremacy (sovereignty) is the idea that, as a democratically elected body, Parliament is the supreme law-making body in the country. 
The main elements are that Parliament has the right to make or unmake any law and that no-one has a right to override or set aside any Act of Parliament. Acts must be applied by the courts and override any judicial precedent, delegated legislation or previous Act of Parliament that covers that area of law. Parliament also has the power to change or cancel any law it has passed. Another aspect is the idea that no Parliament can bind its successors (i.e. no Parliament can make laws that will restrict law-making in future Parliaments). 
One limitation on parliamentary sovereignty is membership of the European Union (EU). EU law takes priority over conflicting laws in member states. The European Communities Act 1972 incorporates this principle into UK law. Even if Parliament passes an Act that conflicts with EU law, EU law must prevail, as shown in the Factortame case in 1990. But this limitation only applies to areas of law where EU law applies, which are mainly economic and social matters, and areas like criminal law are not affected.
Exam practice (page 17)

2. Outline the law-making process in Parliament.



[10 marks]
Answer

The law-making process is in several stages. A bill cannot become an Act of Parliament until it has been passed by both Houses of Parliament. A bill may start in either the House of Commons or the House of Lords, although finance bills must begin in the House of Commons.
Assuming that it starts in the Commons there is a first reading, when the title of the bill is read out to the House. The second reading is the crucial stage, in which the House holds a full debate on the main principles of the bill. At the end of the debate, a vote is taken as to whether the bill should proceed further.
If the vote is in favour, the bill passes to the committee stage. This involves a detailed examination of each clause of the bill by a standing committee of between 16 and 50 MPs. They will probably propose amendments to various clauses of the bill. The report stage is when the committee reports back to the House on any amendments that have been made. These are debated and voted on. At the third reading the bill is presented again to the House and the final vote is taken.
The bill then passes to the House of Lords (or vice versa), where the same procedure is repeated. 
If the House of Lords makes amendments to a bill that has already passed through the House of Commons, the bill is referred back to the Commons to consider the amendments. Under the Parliament Acts 1911 and 1949 the Commons can, as a last resort, force through a bill that the Lords doesn’t support, but this has only happened four times. 
Once a bill has passed successfully through all the stages in both Houses, it has to receive formal consent of the monarch in order to become law. This is known as royal assent. Some Acts of Parliament come into force when royal assent is given, but most start on a specific date, which may be stated in the Act.
Exam practice (page 17)

3. Discuss the advantages of parliamentary law-making.










[10 marks + 2 marks AO3]
Answer

The first advantage is that the process is democratic. The House of Commons is an elected body. MPs are answerable to the voters and there must be an election at least every 5 years. The Commons can, if necessary, force its will on the Lords by using the Parliament Acts. Parliament takes note of public opinion. The vote in February 2006 for a complete ban on smoking in public places could be seen as Parliament responding to public opinion and this is clearly a good thing.
A second advantage is that the House of Lords is a useful check on the bills that the Commons draws up. It is right that elected MPs should make most of the laws, but it is useful having the Lords to keep an eye on what they are doing. There are many people in the Lords who have specialist expertise, for example lawyers, doctors and scientists, or who have been successful in running companies or charities. These people bring practical knowledge and experience to their examination of bills and very often the Lords will make sensible and constructive changes to bills. Another way in which the Lords can be a useful check is if the Government has a big majority in the Commons and therefore is able to force through whatever it wants, perhaps without proper scrutiny. Having the Lords as an additional and completely separate check is very helpful.

Connected with this is the general advantage that the legislative process is thorough, with detailed committee examination of bills in both Houses as well as general debates. Bills usually take several months to get through all their stages and MPs and Lords will have lots of opportunities to make suggestions, and often get bills amended in useful ways as the Government takes note of what is said.  

Finally, when it is necessary, an Act can be passed quickly, perhaps to respond to an emergency. For example, the Criminal Justice (Terrorism and Conspiracy) Act 1998 went through all its stages in two days, and the Northern Ireland Act 1972 was passed in just 24 hours.
Topic 2: Delegated legislation

Exam practice (page 24)

1. Explain what is meant by by-laws and Orders in Council.

[10 marks]
Answer

By-laws are usually those laws that are passed by local authorities under Local Government legislation. They are used to deal with local issues such as parking restrictions in a residents-only parking area, the throwing of litter and park rules. Power to make such rules is also given to large commercial bodies, such as Network Rail (no smoking regulations) and the British Airports Authority (rules on security arrangements), and also to professional bodies, for example the British Medical Association.
Orders in Council refer to delegated legislation in the name of the Queen made by Her Majesty’s Privy Council, which is made up of senior government ministers. This is the most formal type of delegated legislation and is used to deal with national emergencies, for example the Foot and Mouth outbreak in 2001 and the fuel crisis in 2000. Other uses of Orders in Council are to transfer responsibility between government departments or to deal with powers devolved to Scotland or Wales. Such Orders are also used to dissolve Parliament before a general election.
Exam practice (page 24)
2. Describe judicial controls on delegated legislation.


[10 marks]
Answer

Judicial control is dealt with by the judicial review procedure of the High Court by determining whether the delegated legislation is ultra vires – outside the powers given in the parent act. This can be on substantive or procedural grounds. 

A challenge brought under procedural grounds argues that there was a failure to follow the procedures laid down in the enabling act – a good example is Agricultural Training Board v Aylesbury Mushrooms Ltd. where the minister responsible had failed to consult interested parties as required by the Act. As a result, the order was declared invalid.

A claim of substantive ultra vires occurs where the delegated legislation exceeds the powers actually granted in the enabling act. In AG v Fulham Corporation an Act allowed local authorities to set up clothes-washing facilities for people to use, but the Corporation set up a laundry to do people’s washing for them and therefore went beyond its powers.
A decision may also be considered unreasonable. This may be because the rules are unjust, are made in bad faith or are so perverse that no reasonable person would have made them. In Strickland v Hayes a by-law prohibiting the singing of obscene songs was too widely drawn, so that it prohibited the singing of such songs in private as well as in public, and was therefore unreasonable.
Exam practice (page 24)
3. Discuss the disadvantages of delegated legislation.   [10 marks + 2 marks AO3]

Answer

A major disadvantage is that delegated legislation is undemocratic – it is passed by unelected people rather than by Parliament; even when an SI is passed by a minister, it will have been drafted by civil servants who are not directly accountable to Parliament. This effectively means sub-delegation of the original law-making authority.

A particular criticism can be levelled at Henry VIII clauses which allow ministers to amend and even to repeal statutory provisions by Statutory Instruments without the need for an amending Act of Parliament.

The sheer quantity of delegated legislation means that today most of our legislation is passed by this means – more pages are added to the ‘statute book’ each year by delegated legislation than by Acts of Parliament. This large amount of delegated legislation makes it difficult to keep track of the current law (in 2011, 3117 statutory instruments were made). There is little publicity compared to that received by Acts of Parliament, so people may be unaware that a particular piece of legislation exists. 

Such a volume of SIs cannot be adequately scrutinised or controlled by Parliament – this is particularly true of EU law. Few Statutory Instruments have affirmative resolution, and MPs are too busy to look at the others. The powers of the Scrutiny Committee are limited, as it can only consider whether the delegated powers have been used correctly, and not the merits of the legislation. Its reports are not binding either.
Topic 3: Statutory interpretation

Exam practice (page 33)
1. Briefly describe external aids and a rule of language.  


[10 marks]

Answer

Extrinsic aids are documents that judges may use to assist them in interpretation of the Act but that are outside the Act. Examples include other Acts and Law Commission reports that might have formed the basis of Act.

Following the case of Pepper v Hart, where there is ambiguity or uncertainty in a part of a statute, judges can now refer to Hansard, the Parliamentary Record, provided that the material relied on consists of a ministerial statement which clarifies the meaning of that section. In R v Deegan, an application to consider Hansard was rejected because what ministers had said was not sufficiently clear. 

Another extrinsic aid could be dictionaries of the time of the Act. For example in Cheeseman the court looked at an old dictionary to discover the meaning of the word ‘passenger’, and in Vaughan v Vaughan a dictionary was used to discover the meaning of the word ‘molest’.

A rule of language is eisdem generis, which means ‘of the same kind’. It applies where a list of specific words is followed by general words and means that the general words must be of the same kind as the specific words. For example in Powell v Kempton Park, an Act regulating betting applied in a ‘house, office, room or other place’. Because the places in the specific list were all indoor places, the ‘other place[s]’ must be indoor places as well and could not therefore include betting in the open air on the racecourse itself.
Exam practice (page 33)

2. Describe the golden rule.






[10 marks]

Answer

The golden rule is really a modification of the literal rule and says that judges should use the literal rule unless it would produce an absurd result. 

Under the narrow application, proposed by Lord Reid in Jones v DPP (1962), if a word is ambiguous the judge may choose between possible meanings of the word in order to avoid an absurd outcome. He argued that if a word had more than one meaning, ‘then you can choose between those meanings, but beyond this you cannot go’.

This application was used in R v Allen (1872). Section 57 of the Offences Against the Person Act 1861 made it an offence to marry if you were already married to someone else. The court decided that ‘marry’ was ambiguous and could have two meanings: to become legally married or to go through a ceremony of marriage. It was clearly absurd to apply the first meaning, as no one could then be convicted of the offence, so Allen was found guilty.

The wider application is where there is only one meaning but this would lead to an absurd or repugnant situation. In Adler v George (1964), the Official Secrets Act 1920 made it an offence to be found ‘in the vicinity of a prohibited place’. The accused was arrested inside the prohibited place, but the court held that ‘in the vicinity of’ could mean ‘being in or in the vicinity of’ the prohibited place in order to avoid an absurd result. Another example is Re Sigsworth where to have applied the literal rule would have created the repugnant situation of a murderer inheriting from his victim.
Exam practice (page 33)

3. Discuss the advantages and disadvantages of the golden rule.









         [10 marks + 2 marks AO3]

Answer

First of all, because the golden rule is effectively an ‘extension’ of the literal rule, it respects the authority of Parliament as our sovereign law-maker and thus confirms the subordination of judges to Parliament. It makes judges law-finders rather than law-makers. 

It also has the advantage over the strict literal rule in that judges have some discretion to avoid repugnant or absurd consequences, which the literal rule by itself could create, for example in R v Allen, where a strict use of the literal rule could have meant that the serious crime of bigamy could not be committed at all, or in Re Sigsworth, where a mother’s killer would be entitled to become her heir. 

The main disadvantage of this rule is that it can only be used by judges when they decide that a section of the Act creates an absurdity or is repugnant. This makes it ‘an unpredictable safety-valve’ because there are no real guidelines on when it should be used. What seems absurd to one judge may not be absurd to another. In giving judges some measure of discretion, it also has the tendency of making judges into ‘law-makers’ as they are not confining themselves strictly only to the words of the Act . 

The Law Commission has argued that this rule is of limited value as it provides no clear means to test the existence of the characteristics of absurdity or inconsistency. Michael Zander argued that it was a ‘feeble parachute’, because it could be used in such limited circumstances.

Topic 4: Judicial precedent

Exam practice (page 41)

1. Outline what is meant by (a) hierarchy and ( b ) ratio decidendi.












[10 marks]

Answer

Hierarchy is the idea that some courts are higher than others, so that decisions in the higher courts bind the lower courts. 

Decisions made by the European Court of Justice (ECJ) are binding on all the courts in the UK in matters of EU law. 

The Supreme Court is bound by the decisions of the ECJ, but as the highest appeal court in England, its decisions bind all the other English courts. The importance of the Supreme Court is also indicated by the fact that it is not bound by its own earlier decisions. This is as a result of the Practice Statement issued in 1966 which allowed the House of Lords (and now the Supreme Court) to depart from its own earlier decision ‘when it appears right to do so.’ 

Both divisions of the Court of Appeal are bound by decisions of the Supreme Court and the ECJ, but their decisions bind all lower courts. The Civil Division is bound by its own previous decisions (Young v Bristol Aeroplane Co. Ltd ). The Criminal Division is usually bound by its own previous decisions but may take a more flexible approach if the liberty of an individual is involved. 

The divisional courts and the ordinary High Court are all bound by the decisions of the Court of Appeal; the House of Lords and the ECJ and High Court decisions are binding on lower courts.

The Crown Court is bound by the decisions of all the higher courts. Its decisions are not binding precedent, although the decisions of High Court judges sitting in the Crown Court could form persuasive precedent if reported. The court is not bound to follow its own decisions. The magistrates and county courts are bound by the courts above them, but their own decisions do not form binding or persuasive precedent. They are not bound by their own previous decisions.

Ratio decidendi means ‘the reason for deciding’ and is the part of the judgment where the reasons for the decision are set out. This becomes the binding precedent for future cases where the facts are sufficiently similar. 

An example of ratio decidendi is the rule in Nedrick, confirmed in  Woollin, that if a jury considers that the defendant foresaw death or serious injury as a virtual certainty, oblique intention may be inferred. Another example is the judgement in Cunningham that to be reckless you have to know there is a risk of an unlawful consequence and decide to take the risk.
Exam practice (page 41)

2. Outline two ways in which judges can avoid following precedent.











[10 marks]

Answer

One way of avoiding precedent is distinguishing. This is where the judge finds that the facts of the case are sufficiently different from the case setting the precedent, so he or she can distinguish the two cases and avoid following precedent. 

An example is Balfour v Balfour and Merritt v Merritt. Mrs Balfour was unable to enforce a maintenance agreement made with her husband and the ratio of the case was that there is no intention to create legal relations when agreements are made within marriage. In Merritt v Merritt however, the defendant husband sought to rely on the Balfour principle to avoid honouring an agreement he had made with his estranged wife. The court distinguished the case on the material difference that the agreement, albeit made within marriage, had been made after the couple had separated.

Another example is Wilson (1996), which was distinguished from Brown (1993). In Brown, the defence of consent was not allowed as sado-masochistic acts did not qualify as surgery or tattooing, but in Wilson, where a man carved his initials into his wife’s buttocks with a hot knife, the court distinguished from Brown and said that this did amount to tattooing.    

Another method is overruling. Judges in the higher courts can overrule the decisions of the lower courts if they consider the legal principles to be wrong. For example, the Supreme Court can overrule a Court of Appeal decision.

As stated previously, the 1966 Practice Statement allows the Supreme Court to overrule its own previous decisions. An example is Pepper v Hart (1993), which overruled Davis v Johnson (1979) on the issue of whether Hansard could be referred to by judges interpreting statutes. 
Exam practice (page 41)

3. Briefly discuss the advantages and disadvantages of precedent.










          [10 marks + 2 marks AO3]

Answer

One advantage is that it creates certainty, allowing people to know what the law is and enabling lawyers to predict the likely outcome of a case. Because of precedent people can assume that cases with similar facts will be dealt with in a similar manner. Without a system of binding precedent people could not be sure that the law would stay the same and that would make planning for the future much more difficult.

Flexibility is another advantage and arises through the use of overruling, distinguishing and reversing, allowing the law to evolve. Changes in attitude in society can be taken into account, an example being R v R when the House of Lords accepted that a man could be guilty of raping his wife. 

Also, because cases involve real life situations, the law develops in a very practical, common sense way. This is better than having Parliament legislate in a theoretical way.

A disadvantage is the number of reported cases. This makes it difficult to know all the cases that might be relevant. Judges may only be aware of those precedents that the parties concerned bring to their attention.

Precedent also makes the law rigid because the strict hierarchy means that judges have to follow binding precedent. Therefore, bad or inappropriate decisions cannot be changed unless they are heard in a higher court that can overrule them.

A further disadvantage is that the law develops in an unsystematic way because judges can only make law on the facts of the case before them. They cannot lay down a comprehensive code to cover all possible situations, as Parliament can. It is sometimes not helpful when small changes are made, when what is really needed is reform of the whole area of law. For example Adomako re-introduced gross negligence manslaughter, when really the whole law on involuntary manslaughter needed systematic reform.  

Another problem is that case law applies retrospectively to events that occurred before the case was brought. This could lead to unfairness if, as a result of the case, the law is changed, because the parties to the case could not have known what the law was prior to their actions. This is what happened in R v R (1991), for example.

Section B: The legal system
Topic 5: The Civil Courts and other forms of dispute resolution
Exam practice (page 52)
1. Outline the courts (including the appeal courts) which might hear a negligence claim and explain what is meant by negotiation.



[10 marks]

Answer

Under the Civil Procedure Act 1997, all civil actions, including negligence actions, have to be directed to one of three ‘tracks’ depending on the value of the claim. Claims valued up to £10,000 (£1000 for personal injury claims) are dealt with under the small claims procedure by an informal arbitration procedure chaired by a district judge within the County Court. Claims valued between £10,000 and £25,000 are fast-track and are heard in the County Court while claims over £25,000 are multi-track: such claims, if less than £50,000 will almost always be tried in the County Court whereas if the value exceeds that amount, the case will be heard in the High Court – Queen’s Bench Division.

It is possible to appeal against the decisions in any of these courts. From the small claims court an appeal may be made to a single circuit judge; from a fast-track decision in the County Court an appeal lies to a single High Court judge; from a multi-track decision in the County Court an appeal may be made, with leave, to two Lords Justices of Appeal in the Court of Appeal (Civil Division). From a multi-track decision in the High Court, an appeal, with leave, may be made to the Court of Appeal where it will be heard by three Lords Justices.

Negotiation is the most informal type of alternative dispute resolution and will usually be the first method the parties use to resolve their dispute. It involves the parties communicating directly with each other, or through solicitors, to try to reach some agreement or compromise. Negotiation can be done face to face or by other methods, for example on the telephone or by email. The crucial point is that a third party is not involved and it would often be used in simple disputes like those between neighbours or, as here, in a negligence claim.
Exam practice (page 52)
2. Describe arbitration.







[10 marks]
Answer

Arbitration involves parties to the dispute referring it to a third party for judgment, rather than going to court. The arbitrator makes a binding decision, which is called an award.  

This procedure is very common in commercial contracts made between businesses where there may be an express clause in the contract called a ‘Scott v Avery clause’ which compels both parties to take any dispute arising out of the contract to arbitration. Arbitration is governed by the Arbitration Act 1996 and its main requirements are that the parties themselves must agree to arbitration and the choice of an arbitrator. The parties and the arbitrator will agree the actual procedure to be followed – whether witness evidence should be allowed etc. The person chosen to act as the arbitrator need not be legally qualified, but is expected to know the relevant law for the area of dispute and will also be experienced in that field. For more serious disputes, the arbitrator would be a Fellow of the Institute of Arbitrators. 

There are also consumer arbitrations. The Office of Fair Trading (OFT) has in recent years encouraged and approved many arbitration schemes set up by trade associations to resolve consumer problems, e.g. the Association of British Travel Agents (ABTA). Usually, these involve a ‘paper’ arbitration, where the arbitrator makes the decision after reading the documents of the case.
Exam practice (page 52)
3. Discuss the advantages of alternative dispute resolution as a form of dispute resolution.






         [10 marks + 2 marks AO3]

Answer

The principal advantages of ADR as opposed to Civil Courts are that the procedures are quicker, cheaper and usually much less formal. Another advantage which relates to arbitration and mediation is that the parties themselves have much more control over the settlement process.

All ADR procedures are generally cheaper than courts in a number of ways. First of all, fees, if charged, will be cheaper than court costs. Also, because procedures, whether involving tribunals or arbitration, will be less formal the cost of expensive lawyers is either avoided or reduced. Finally, in all ADR procedures, the costs do not follow the loser – each side pays its own costs. This element of ‘risk reduction’ is a major advantage in its own right. 

ADR is usually quicker than courts – despite the Woolf reforms to the civil justice system, court delays are still considerable even in the County Courts where multi-track cases could easily take a year or more to come to court. Most tribunal cases are heard within a few months or even sooner; the same advantage exists for both arbitration and mediation.

Finally, the issue of control over the procedure of dispute resolution itself is significant – in both arbitration and mediation, the parties themselves have to agree to initiate these processes, then to agree the choice of arbitrator or mediator. This degree of control over the process gives the parties in dispute much more confidence in a fair outcome being arrived at.

Topic 6: The criminal courts and lay people

Exam practice (page 62)
1. Describe how magistrates qualify and are selected.


[10 marks]

Answer

Under the Justices of the Peace Act 1997, lay magistrates are appointed by the Lord Chancellor on the advice of county local advisory committees. Members of these committees are appointed by the Lord Chancellor and mostly comprise approximately two-thirds magistrates and one-third lay members. There are few formal qualifications laid down for the appointment to the magistracy but applicants are expected to live or work within a reasonable distance of the court where they will normally sit, and be aged between 18 and 65. Applicants are required to possess the six key qualities laid down by the Lord Chancellor in 1998 – these include good character, sound judgment, commitment and reliability,

Those excluded from the magistracy are police officers, probation officers, members of the armed forces and those with certain criminal convictions (including drink-driving). 

Candidates now have to make a formal application and the typical applicant will these days have either responded to an advertisement or made an enquiry through the government website following discussion with a friend. The advisory committee arranges interviews for shortlisted candidates after references have been checked. There are two separate interviews which assess the candidate’s character and judgement. After this, the local advisory committee reviews potential appointees to ensure a ‘balanced bench’ in terms of gender, ethnic background and occupation. This committee then submits its recommendations to the Lord Chancellor who formally appoints the new magistrates who are then sworn in by a circuit judge. 

Exam practice (page 62)
2. Describe the role of a jury in a Crown Court trial.


[10 marks]

Answer

The role of the jury in a Crown Court trial is a very simple one; it is to determine whether the defendant is guilty or not guilty. In order to do this, jurors have to weigh up the evidence and decide what the true facts of the case are. There is a partnership between the judge, who acts as ‘master of the law’, and the jury, which is ‘master of the facts’ and the jury has the sole responsibility for determining guilt.

In the courtroom they listen to the evidence. Notes may be taken and jurors have the opportunity to question witnesses through the judge. At the end of the case the judge summarises the evidence in the case and directs the jury on relevant legal issues. In complicated cases, the judge also provides a structured set of questions to assist the jury in its deliberations. 

In the private jury room, the jury chooses a foreperson to present its verdict. If the jury has not returned with a unanimous verdict after a minimum period of 2 hours 10 minutes, the judge may recall it and advise that a majority verdict may be made. Majority verdicts are possible under the Criminal Justice Act 1967, but a minimum of ten out of 12 must agree.

Discussions in the jury room are secret and, under the Contempt of Court Act 1981, jurors who reveal information about what went on the jury room risk imprisonment.

The jury returns to the courtroom and the foreperson announces the verdict.  The jury has no role in sentencing as this is the job of the judge.
Exam practice (page 62)
3. Briefly discuss the disadvantages of using lay persons (lay magistrates and juries) in the criminal justice system.


         [10 marks + 2 marks AO3]

Answer

Disadvantages or weaknesses of juries include the argument that they can lack competence – research carried out by the New Zealand Law Commission showed ‘that a number of jurors had real difficulties with legal terms and concepts such as ‘reasonable doubt’ and ’intent’. Particular concern has been expressed about the average jury’s understanding of complex fraud cases. However, in one such case – R v Rayment, which collapsed in 2005 after a trial lasting several months – an enquiry concluded that the jury in that case did have a good grasp of all the evidence.

A further disadvantage or criticism of juries is that they may be ‘nobbled’, where attempts are made by means of threats or bribes to persuade a juror to return a ‘not guilty’ verdict, although the introduction of majority verdicts in the Criminal Justice Act 1967 has made this more difficult. 

Finally, it is argued that in controversial criminal cases where there is a great deal of media publicity, juries are more likely than judges to be swayed by that publicity. 

As for magistrates, one key disadvantage is that there is considerable inconsistency in the decision-making of different benches, particularly noticeable in the awards of legal aid and the type of sentences ordered. 

Another is that of possible bias towards the police – police officers are frequent witnesses and become well-known to magistrates, and it has been argued that this results in an almost automatic tendency to believe police evidence, as illustrated by R v Bingham JJ ex parte Jowitt.

Finally, it is argued that magistrates’ justice is ‘cheap and amateur’; because the chances of acquittal are substantially higher in the Crown Court than in magistrates’ courts, this creates the suspicion that the Crown Court is a fairer forum in which to decide cases or even that magistrates are not as fair as they might be. 

Topic 7: The legal profession and other sources of advice and funding
Exam practice (page 73)
1. Describe the work of a solicitor





[10 marks]

Answer

Much of the work of a solicitor involves giving legal advice to clients and carrying out non-contentious work, including conveyancing (dealing with the legal requirements of buying and selling property) and probate (drafting wills and acting as executors for the estates of deceased persons). 

But solicitors can also act as advocates and represent clients in both magistrates’ and County Courts, in which they have ‘rights of audience’. They also have the opportunity to obtain rights of audience in the higher courts, which was first made possible by the Courts and Legal Services Act 1990, and was extended in the Access to Justice Act 1999. For rights of audience, solicitors have to qualify as solicitor advocates. 

Solicitors as a group actually do more advocacy work than barristers, since 97% of all criminal cases are tried in magistrates’ courts, where both the prosecuting and the defending lawyer are solicitors. Even where a barrister has been instructed to represent the client in a court case, the solicitor still has an important role in doing the preliminary work to prepare the case.

Solicitors usually work in partnerships. There has been a trend in recent years for firms of solicitors to merge into larger partnerships, which in turn has led to increasing specialisation.
Exam practice (page 73)
2. Briefly explain where someone injured in an accident could obtain legal advice and representation and how it might be paid for.



[10 marks]

Answer

This would be a civil case. Advice could be obtained from a solicitor. They are usually readily available in all towns and cities, and are able to offer professional legal advice to clients on cases like this. Sometimes solicitors will recommend obtaining counsel’s opinion from a specialist barrister. 

Advice might also be obtained from the Citizens’ Advice Bureau (CAB). Staff are generally not legally qualified, and in an accident case would be likely to recommend that you see a solicitor.

Advice might also be available under private legal insurance if the person has it. More common are motor and house insurance policies which will provide legal advice and representation in the event of injury arising from a road traffic accident or from a house accident. Trade Unions and professional bodies like the BMA provide legal advice to their members and it is possible that this could cover injuries from accidents, especially if the accident was connected with employment.

In terms of funding, the advice in a CAB is free, and advice under any kind of legal insurance will also be free.
Advice from a solicitor or barrister could be very expensive and in practice is only an option for businesses and wealthy individuals. Many solicitors will offer a free half-hour interview, and some will even offer their services ‘pro bono’ – free of charge – in particular cases. But a more realistic option, especially in accident cases, would be a conditional fee agreement. 

Under the CFA scheme, solicitors and barristers can agree to take no fee if they lose a case and are able, if they win, to raise their fee up to a maximum of double the usual rate. In order to ensure money is available to pay the other side’s legal costs if the case is lost, the Law Society has arranged an ‘after-the-event’ insurance scheme whereby, for a relatively small amount, the claimant’s liability for such costs is covered.

State funding is unlikely to be available for accident cases. From April 2013 civil legal aid has been withdrawn from many types of cases and availability in civil cases is now very limited.

Exam practice (page 73)
3. Discuss the disadvantages of the various methods of funding civil cases. 








         [10 marks + 2 marks AO3]

Answer

Clearly, the most obvious disadvantage of using a private solicitor is the high cost involved – hourly rates can easily exceed £200, and if the case ends up going to court, there may be the additional cost of using a barrister also. Also, for some types of litigation, it can be difficult to find a solicitor who is an expert in that kind of law.

Conditional fee or ‘no win, no fee’ litigation, while superficially attractive to many litigants, also has some significant disadvantages. Solicitors may only take such cases if they have a strong likelihood of success. Even in such cases, clients may have to take out expensive ‘after-the-event’ insurance policies to protect themselves from having to pay the opposing party’s costs if they win. Finally, solicitors can put pressure on the clients to settle out of court to enable the solicitor to claim the uplift fee.

Trade Union or professional body funded schemes only cover those who are members of such schemes, and again, it is possible that only sufficiently strong cases will be funded.

Following many reforms and cut-backs in the provision of civil legal aid, it is becoming increasingly difficult to obtain such public funding. Both means and merits tests are more rigorous and, even if such funding is available, it is likely that the litigant will have to make a substantial contribution to the costs, and, if successful, the statutory charge will result in a ‘claw-back’ of any damages awarded. 

Topic 8: The judiciary

Exam practice (page 81)
1. Briefly describe how both superior and inferior judges are selected and appointed. 









[10 marks]

Answer

To be eligible for appointment as inferior judges (recorders, district judges and circuit judges), candidates need to have been in practice as either a barrister or solicitor for five or seven years depending on the office. Superior judges (High Court and above) either have to have been in practice for a minimum of 7 years or to have held a judicial post.
Selection of both kinds of judge is made by the Judicial Appointments Commission (JAC). It is the responsibility of the JAC to select candidates for judicial office on merit. It does this independently of government, through fair and open competition and by encouraging a wide range of applicants.

Suitably qualified candidates respond to advertisements placed in newspapers, professional journals or on the Lord Chancellor’s Department (LCD) website and complete an application form and provide a number of personal referees.

Shortlisted candidates are interviewed by a panel chosen from the members of the JAC.  Successful candidates are nominated by the JAC to the Lord Chancellor for appointment.


In practice, all appointments of judges to the Court of Appeal are made from the ranks of High Court judges.

Appointments to the Supreme Court are made under a slightly different procedure because the Supreme Court is a court of the UK, not merely of England and Wales. By convention, two members are from Scotland and one from Northern Ireland. The selection panel must comprise the president of the Supreme Court, the deputy president and one member each of the JAC for England and Wales, Scotland and Northern Ireland.

Supreme Court appointments are recommended to the Queen by the prime minister, and under s. 26(3) of the Constitutional Reform Act 2005, the prime minister has to accept the name provided by the Lord Chancellor.

Exam practice (page 81)
2. Describe the work of a judge in a Crown Court trial.


[10 marks]

Answer

In a criminal case tried in Crown Courts the judge is responsible for all matters of law and has to make sure that the rules of procedure are properly applied. During the trial the judge will decide any legal issues, such as ruling on the admissibility of evidence. The judge also has to direct the jury on the law that they have to apply. This is very important because if the judge misdirects the jury on the law any defendant who is convicted is likely to appeal. 

The judge may hold a pre-trial hearing to decide issues of bail and granting legal aid and agree with prosecution and defence what witnesses will be required to attend and how long the case is likely to last.

In the trial itself, the judge ensures that order is maintained and makes sure that both prosecution and defence have the opportunity to fully present their case.

Once all the evidence has been heard, the judge summarises the evidence for the jury and directs them on how they should treat the evidence they have heard. The judge will also emphasise that they should reach their verdict solely on the evidence they have heard.

If the defendant is convicted, the judge decides the sentence to be imposed, having heard any pleas for mitigation from the defence and considered any reports provided. 
Exam practice (page 81)
3. Discuss the importance of judicial independence.       [10 marks + 2 marks AO3]

Answer

In the UK’s legal system, great importance is attached to the idea that judges should be independent from any pressure from the Government particularly, or from any political, or other, pressure groups so that those who appear before them and the wider public can have confidence that their cases will be decided fairly and in accordance with the law. 

They must be free of any improper influence which could come from the Government or Parliament or from the media and pressure groups as well as from the parties in the case. 

Independence is secured through tenure of office. In England, all superior judges  hold office ‘during good behaviour’, subject to removal only by the monarch by means of an address presented by both Houses of Parliament  This has never happened to an English judge. Also, no judge may be sued in respect of anything done while acting in his or her judicial capacity. Political neutrality is also preserved in that judicial salaries are charged upon the consolidated fund, which removes the opportunity for an annual debate.

The value of judicial independence is highlighted by the increase in judicial review cases, in which judges are required to examine the legality or procedural correctness of government decisions. The responsibility of the judiciary to protect citizens against unlawful acts of government has thus increased, and with it the need for the judiciary to be independent of government. There have been many instances where judges have overruled the decisions of government ministers, for example A v Home Secretary 2004 when the House of Lords ruled that control orders were unlawful. 

The independence of the judiciary is particularly necessary when judges have to chair inquiries into major cases and national events, for example the Hillsborough disaster, the Stephen Lawrence murder, the Arms-to-Iraq controversy and the Leveson Enquiry into the conduct of the press, including allegations of phone-hacking.
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